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INSTRUCTION TO CANDIDATES

WirigEstazr. Ar{cB e
This paper comprises two sections:

A B i 453L (60%)
Section A: Multiple-choice Questions (60%)

B = i % 4E (40%)
Section B: Subjective Questions (40%)

A w BB EATY GUEAL e
Answer all the questions in both sections.

ABIRp sFlsirikanE RAR AEF XA o

For Section A, select the correct answer and blacken the circle using a 2B pencil.
Baims iFIsE%T ARgB G o

For Section B, write the answers in the space provided in the question.

REY L A RELIFR A E muf £ (Tl o

The diagrams in the questions are not drawn to scale unless otherwise stated.

POERE L 16T
This question paper consists of 16 printed pages.
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A 2: %354 (60%)
SECTION A: MULTIPLE CHOICE QUESTIONS (60%0)

45 AB,CfrDe fi#37 R k- J ¥% o

Each question is followed by four options A, B, C and D. Choose only one answer.

L % 1chs 248 b A58 (p kv & o
The animals in Diagram 1 are classified according to their external characteristics

i X
Characteristic X
[}

%] 1
Diagram 1
PR XL =9
What is characteristic X?
A F ok B 5 B
With beak With web
C 'ﬁ }i&’?;{? D ”}; 3L
With wings With feather

2. B2 F o) M iTa- ML
Diagram 2 shows an experiment carried out by Xiao Ming.

Bk
Oil layer
Food i Aquatic plants
%] 2
Diagram 2

::Qré,,ﬁ_}b;;'f", oll.figé_j}‘zﬁ’_?

Three days later, the fish died. Why is this happening?

A vk ota sk B & itit b a4
The fish lacks sunlight The fish lacks food

C & nab2g D # jLak-b-ka
The fish lacks air The fish lacks water
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3. Tw Lor A EadAAT o

Below shows the basic requirements of human.

R: 832 moe A7Hk (8T
Promote cell metabolism
T % %k
Regulate body temperature

SSRGS A
Promote growth and development

SR X PR M
Protect from the sun and rain

TR E & RS, T 4o U?

Which of the following can represent R, S, T and U?

R S T U
A B R g o kA & i
Air Shelter Water Food
B ko &4 e P g o
Water Food Air Shelter
C =1 & % ko P 3P A1
Alir Food Water Shelter
D ks R B3P 5 %=1
Water Food Shelter Air

Aok A e B o v % e 9
The skin is the human excretory organ. What waste does it excrete?

A 31 + ks
Oxygen + water

C - % ivm + kA
Carbon dioxide + water

F] 3§ on A FFewE e kiR o

2L LA PRGN o

Diagram 3 shows the human respiratory system.

Air will flow into the from P.

A KA
diaphragm

C ﬁ e
nasal cavity

B

B

D

- "B+ FR
Carbon dioxide + sweat

D kA + ik +H Y
Water + urea + mineral salts

Air

%] 3
Diagram 3

trachea

B
lungs
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6. FA4L T ALFFRIE- kYL
Diagram 4 shows a week-long experiment in the laboratory.

A 48

Wooden box y

A

5 -

Seedling :

%] 4
Diagram 4

SES L LSE RS
What is the conclusion of this experiment?

A jid g &k B {4 £ xtpaskivdiF 2
Plants need sunlight Plants respond to sunlight

C fif £t 7 FdF & D i chfT £f kA TEDE £
Plants respond to air The roots of plants respond to water

7. B|5 R 7% Xo
Diagram 5 shows animal X.

%] 5
Diagram 5

TG R g X iR g e S et 2 0
Which of the following is the way for animal X to ensure the continued survival of its species?

| * % £ 9P I fAte)d + ALF” ér
Covered the eggs with sand Landing at night to lay eggs
I j—:»—r_l‘ié,ﬁﬁp AV4 ’l}_‘l’%?ﬁ%
Laid a lot of eggs Waiting by the eggs
A LT B I, I, 1V
C I, 11V D 1L, I, IV
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76 5o - f A oo
Diagram 6 shows a microorganism.

Diagram 6

ﬂmig%#ﬁﬁ@mgéﬁﬁi#owﬁmﬁlgvu%yﬂmﬁ%wﬁ?
We cannot see the microorganisms in the picture with the naked eye. Which of the following tools can
help us solve the problem?

O FTAETAE P o
Diagram 7 shows two animals.

Diagram 7

SRR E R 7 I G
Name the interaction happened between the two animals in the diagram above.

A HE X B 4}
Competition Parasitism
C X i D 2%}
Prey-predator Symbiosis
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10.

11.

E8iﬁ%&%ﬂﬁﬁo

Diagram 8 shows an oil spill from a ship.
PR haE L5425 %9

What are the consequences of the above accidents?

A R fend b4 % T e

The lives of marine life will be threatened
B /34 5 s FH 4

Increased reproduction rate of marine life
C a3 Hn = FT%

Decreased mortality of marine life
D a2 4% N B8k 3

Increased economic value of marine life

¥ 9 £ om - W L Heenid AR o
Diagram 9 shows the process of an experiment.

.90 |00

- 80 NI S

- 70 - 70

%] 9
Diagram 9

TG R L ke
Which of the following below are correct?
I ¥+ Kir L*FK—I']L;‘,’E F o

Both object K and L are liquids.

I % * Ker;rsg;kgg;a 0
Both object K and L occupy space.

N 4+ Kehdrt b L4 o

Object K has a bigger volume than object L.

IV = F Lt ir Kx o
Object L has a bigger volume than object K

AL B

C LIV D

- 100 & - 100 M€

A
Si%gé

el

7] 8
Diagram 8

HRL 9
Object L N2

WK —E
Object K *

I, 11
", 1v
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12 5110 57— f R2EAKL o
Diagram 10 shows an irregular shape.

20m
}2em
A YN
/] )4
f
(T
%] 10
Diagram 10
o Ey IR ] W 1
What is the area of the irregular shape?
A 29 cm? B 58cm?
C 112cm? D 160 cm?

B ® 11 g7qm- ALk
Diagram 11 shows an experiment.

%] 11
Diagram 11
NS A A L SR R
What conclusions can be drawn from the experiment?

A B¥L B+t o6
Friction will wear the surface of the object

B s 1ol i f e =
Friction hinders the movement of objects

C Wb 2 hgmgir2 4 chifes
The oil reduces the friction between the hand and the glass

D+ g &L 54 ik ARy
The girl needs more effort to hold the glass tightly
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14. |jTV)’KIﬁ‘J_:rPfL mgbg:ﬂ?
Which of the following shows the energy change of an electric kettle?

A g B ¥ it -3

Electrical energy — Kinetic energy Electrical energy — heat energy
C i % — #it D i — i

Chemical energy — heat energy Heat energy — electrical energy

15. 7 Z| R Rt A o R 7
Which of the following statements is not true?
A - h ke et R
A lighted bulb gives out heat energy
B o dika
The Sun gives out light energy
C %t teraspl g &
A ball resting on a table possesses kinetic energy

D @ E mﬁ\);t '9-5—— F ’I;i

A stretched rubber band possesses potential energy

16. mTwRit § v 4 4 5k ?
Which of the following are renewable energy sources?

N 121 I % & 1 ]
Solar energy Coal Petroleum
IV 4 4 ﬁ AVAR VI 5
Biomass Wind power Nuclear energy
A I,V B Il Il
C LIV,V D I, 11V
17 /\ J_y v L‘}’S’. | — ,,__ 9 24
v oKk P RILE T g o do% 12 4t VEye
7T °i=’:}x7"‘i [ ‘:}7'3] L._E'_? B2 P

Hassan observes a fish in the water as shown in % © Air
Diagram 12. At which position is the fish K -
actually located? Water __ oA g

oy e

— —

%] 12
Diagram 12
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18. F|13 57— L% A Al FuE o
Diagram 13 shows an old man’s activity.
TG RIT X bl R i ?
Which of the following statements about the above
activities is correct?

A F T e T e Ak
Force can change the shape of an object

B 4 7 gzt g id
Force can move stationary objects

%] 13
C 4 vupgbFfsai i Diagram 13
Force can slow down the speed of object movement

D 4 v B P-g ik ud B
Force can increase the speed at which objects move

19. == 3:00pm > P A4e02 20 kmih chig RSP 75 2 F]A AR e X TP
oo E_3:24pm o it E F izt RS o

At 3.00 pm, Wei Ming started to cycle at 20 km/h to a library. When he reached his destination, the
time was 3:24 pm. Calculate the distance travelled by the boy?

. BEES Distance
g = — S eed = —
RE 7] p Time
A 8km B 11km
C 14km D 20km
20. T g wRIn § e ?
Which of the following is correct?
A5 § R i it 42 RET
Change of state Process Change of energy
' H it ok i #F T
Solid — liquid Freezing Heat is released
I T i+ — i+ RN =R
Solid — liquid Melting Heat is absorbed
1) Hi*—1 iF ks =
Solid — gas Boiling Heat is absorbed
v TRt LR R
Gas — liquid Condensation Heat is released
A 1 I B I IV
C LILIV D I, I IV
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21.

22.

23.

T VRIT R fe B e ?
Which of the following combinations is correct?

X AR A e
Natural material Artificial material
A & 2 i
Raincoat Leather shoe
B £ 4 iR
Gold ring Fish net
C £k a5
Iron nail Copper wire
D P AL * %
Plastic bottle Cork

FlA L m BT, Xfo Y o
Diagram 14 shows two substances, X and Y.

%] 14
Diagram 14

Flgfr e Xfr Y el B2 § & 243242 7 ?
Which physical property must the materials used to make substance X and substance Y possess?

A 4 sl B w % #

Elasticity Ability to conduct heat
C miFsk D ik

Ability to transmit light Ability to absorb water

T L Pt
The properties of substance P are as shown below.

e 7 7 E Hasmass
e 5 — Z_¢775% Has definite shape
e 5 — TNt A7 Has definite volume
Foof P A A
Substance P could be ...
A KET B 33y
Water vapour Glass bottle
C z4» D &
Milk Cooking oil
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24.

25.

7115 Fm - [ LK E -
Diagram 15 shows an apparatus set-up.

%] 15
Diagram 15

VR e f T iE B A5 AR R e R e F 2

Which of the following substances can be separated by using the method as shown in Diagram 15?

A Bk B bk

Salt and water Oil and water

C #-kfei D # -t

Salt solution and sand Salt and sugar

TR TR ETES PERMRE NPT DR

The following information shows the results obtained after blue litmus paper is immersed in three

different liquids.

oX_iEd T EURMF I FIHEA T o

AV

X — The colour of blue litmus paper remains unchanged.
oY -iFd BESAMT AL o
Y — The blue litmus paper turns red.

o7 iFF BEIRAL A =S o
Z — The blue litmus paper turns red.

X, Y e Z$ 7 i A5 9
What could be X, Y and Z?

X Y Z
A i 7l ok Fac¥
Detergent Carbonated drinks Tomato sauce
B CRE Ew T el ok
Cooking oil Bleach Soap water
C BB fi Bk
Apple juice Vinegar Sugar solution
D ik bas ook
Lemon juice Orange juice Salt solution
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26. ¥ 16 L7 - 4 EFI¥ A7 o
Diagram 16 shows a trophy which is made from iron.

%] 16
Diagram 16

TARE G g AR E A Y
Which of the following methods is suitable to prevent the trophy from rusting?

A R B & R
by painting by wrapping with plastic
C % i D 4744
by applying lubricating oil by electroplating with stainless metal
2. = h 0 e TRk L 49

Which of the following iron nails will rust after one month?

! Cork * % —& . Cork ~ %
Oil #
Test tube # § — Test tube # ¢
Iron nail &% & — Iron nail &£ —|
N Boiled water i# -k ——

" Cork * % Cork + %

Test tube *# § — Test tube ## #

Iron nail & & __

Iron nail & &7 ——
Water -k —— Dry calcium chloride
A LI B I
C I, D I, IV
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28. W17 57 AfF A pchia e

29.

30.

A few wooden blocks are arranged to make the structures as shown in Diagram 17.

%] 17
Diagram 17

B R D B AR BRI 44 S
Arrange the structures from the least stable to the most stable.

A RS UT B T,USR
C SSRUT D USRT

F]18 Lom P sk g skiz gl e
Diagram 18 shows how the Moon orbits around the Earth.

%] 18 S
Diagram 18
54 P e RISl Y
During solar eclipse, where will the position of the Moon be?
A P B
C R D S
R L .
Earth takes to complete one revolution.
A 24 B 29 =
24 hours 29 days
C 3654 = D 347
365.4 days 3 months
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1.

Bx: 'ﬁa‘ % &f (40%)

SECTION B: SUBJECTIVE QUESTIONS (40 %)

WEG 4. # FRT AL o

There are 4 questions in this section. Write the answers in the space provided.

F 19§ fufen L d o
Diagram 19 shows the organisms living in a rice field.

Sparrow

Grasshopper Frog

%] 19
Diagram 19
@ {2 F 1948 Lt f 24— f E Kk o [4]

Draw a food web based on the organisms in Diagram 19.

() 4% Fok F1F & a5 %, TG #4530 e o [2]
If rice wilts due to drought, predict the impact on the animal population.

© 4o% 3 { Femtd BT L, AR iyt i o
If more snakes migrate into this habitat, predict the number on the following organisms in this

habitat.
(I) 22 BT MOUSE:  vvvreeemeeenene et ettt et e et et ettt e e e e e [2]
(i) i’&i’i‘ QraSSNOPPEI:  « ettt [2]
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2.

~ EEAE (T4 19 Lo 8 MIFZ 4 BoRarRIg A 0 = 4 AT A B4

1 5g ~ 150 ~ v 250 14 #

A group of students conducted the experiment as shown in Diagram 19. They heated three flasks

containing water, and the three flasks were filled with 5g, 15g, and 25g salt respectively.

z:t\' 1 E TT‘ jﬁ?ﬁ% % °
Table 1 shows the results of the experiment.

i % it EAE kPSP A kAR R R
Thermometer Delivery tube Amount of salt in Temperature when
the water the water boils
%R (9) (°C)
Flask 5 101
7K
Water 15 101.5
25 102
RAENT 41
Bunsen burner Table 1

%] 19
Diagram 19
(@ iy sLIenp g i+ oz ? [2]
What is the purpose of this experiment?
(b) =
Write down:
() Higsisoed e cnE 5 (3 AT %), [2]
Things that must be changed in this experiment (manipulative variables),
(i) AiymaLzee & BLRNE N (E SR RS i;t)’ [2]
Things that must be observed in this experiment (reactive variables),
(i) fig ML oe? o M3 F T g o (T %), [2]
Things that must remain constant in this experiment (fixed variables).
©) 4%k 34 35g G o TR KA M SRR o [2]

If the water contains 35g of table salt, predict the temperature when the water boils.
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3.

PN LS R N

LR

Xiao Ming used a torchlight when there was a black out at his home.

He found that light from the torchlight was dim.

@ ZN- [ FH L T RAEDE

Suggest one way to increase the brightness of the torchlight.

[2]

(b) ffed Dl E .
Sketch the symbol of bulb in the space provided.

ﬁ

(© - m¥a42F- f%?> 4- FAITie At P, QfrR* Fha A o

[2]

Table 2 shows an investigation carried out by a group of students. The brightness of the bulb

from circuits P, Q and R are observed.

Number of dry cell + & ¥ ¢hdc§

Brightness of bulb ¥7 ;& ¢h% &

1

Bright &

2

Brighter +* #2 %

3

Brightest #x &

+ -
~ —

Table 2

—

T

State:

) fymase SE T4

The manipulated variable in this experiment

[2]

) s chr T ik
The responding variable in this experiment

[2]

(i) 330 &L e,

One conclusion based on the situation above.

[2]
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4.

120 B A 2o AT BAEA L A AEk o B N7 e gk
Ad PR 53 AR 30Ccm BBy 0 HALRP R FT X E o

Diagram 20 shows David is conducting an experiment. He placed two plastic cups of the same size
but different orientation. He fans the cups at a distance of 30 cm and observes the order of the plastic
cups toppling.

3+ X
Cup X

N CupY

BN w3+ Y
ANy A
%] 20
Diagram 20

@ () 4238t itensL 76 0P L T F F o
Based on the above experiment, predict which cup will topple first.

() 1345 4@)(i) s eh g % > T - hfawr e
Based on the answer in 4(a)(i), write an inference.

(i i PR R £ Borpdh i T ALl o
The height of the object will affect its stability.

TN e BT ehA R - 4 X ko
Write a relationship between the two data collected from the above experiment.

(b) =21 %7 ﬁﬁlﬁﬂlﬁﬂﬁ iﬁﬂi °
Diagram 21 shows two types of vehicle.

%) 21
Diagram 3

Wﬁ' %3 ’E‘i FLT R P8 Y o iFULE B F] o
Tick (v) the model that is more stable. Give one reason for your choice.

[2]

[2]

[2]

[4]
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A Z: #3547 (60%)
SECTION A: MULTIPLE CHOICE QUESTIONS (60%)

oA wWN R
OCOoOO0OO0OO0

6. B 11.
7. A 12,
8. B 13.
9. C 14,
10. A 15.

‘p - ’:’€ 5 {E (40%)
SECTION B: SUBJECTIVE QUESTIONS (40 %)

1. (a)

(© () - & mouse:

N

faf ————> beif —»i jE—— b0

54 %%
Model Answer

16.
17.
18.
19.
20.

OmWOOO
@>>O0O0

21,
22,
23.
24,
25,

S

(0) =4 crhde B ISR o
Number of animals reduces.

= % Decreases

(i) d=eF grasshopper: }i 4c Increases

2. (@ 4

temperature when the water boils.

® 0 -k¥ 8 Y 2 F/ Amount of salt in the water

() k4 #pt ;8 B | Temperature when the water boils

() wesgens |/ kens &/ &3 ap s

Size of flask/ Amount of water/ Types of salts

(©) 103°C.

>0 T >m®

26.
217,
28.
29,
30.

Fp kv @ AR LKA R R H X ko
To investigate the relationship between the amount of salt in the water and the

O > IO

[4]

[2]

[2]
[2]

[2]

[2]

[2]

[2]

[2]



3. (a)

(b)

(©)

4. (a)

(b)

!

{ # -+ ¥ s Replace / change the dry cell

() = & s %8 Number of dry cell

(i) rriechz g Brightness of bulb

() T o hdeB A% S » Jmie cha B AR
As the number of dry cell increases, the brightness of the bulb increases

() 43 X CupX

) 43 Xeggaas 58 2 ARG ] o AT T g
The way cup X is placed is having a smaller bottom area, hence, cup X is
more unstable.

() $ kA% F /14 0 A&7 T 5/T f4
The higher/ lower the object, the less stable/ more stable is the object.

v ) - %Vﬁm = /It has a larger base area.

[2]
[2]

[2]

[2]

[2]

[2]

[2]

[2]

[4]





